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Attempt all questions.

Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.

English version is considered to be Authentic.

Answer any seven out of ten.

What is programming language? List different types of programming
languages.

For integer a=32767, what is output of printf(““ %d %d ”,a,a-1);

For char ¢="D’, what is output of printf(* %c %c ”,c,c-1);

Write down any two input and two output functions available in stdio.h
For int b=5; and int *p=&b; and if address of b is 40000, what is the output
of printf(*“%d %d %u %u”,b,*p, &b, p);

For int a=41, what is the output of printf(* %d”,++a);

List any four different modes in which a file can be opened.

Write True or false: C program must have a main() function.

For int sum=25; int n=10; what is value of float average=sum/n ; ?
Write output of these (i) 50 % 2/2 (ii) 24 / (int) 3.5

What is keyword? List any four keywords of C language.
OR
List arithmetic and relational operators of C language.
List logical and bit wise operators of C language.
OR
Explain ternary operator with example.
Draw and explain different flowchart symbols.
OR
Draw flowchart and write an algorithm to compute area of circle.
List different basic data types and its range of C language.
OR
What is enumerated data type? Explain with suitable example.

Considering precedence of operators, write down each step of evaluation and
final answer if expression 12 + (216/((3+6) *12)) -10 is evaluated.
OR
Explain if else control structure with example.
Write a program to convert uppercase alphabet to lowercase alphabet.
OR
Create a structure to store student’s rollno, name and age
Draw flowchart to find minimum of three numbers N1,N2,N3.
OR
What is file handle? Explain fopen, fwrite and fread function in brief.
What is symbolic constant? Write a program to find area of circle using

symbolic constant PIE. (Area = m*r?)
OR
Draw flowchart and explain for loop with example.
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Write a program to print sum of 1 to 10.
OR
Write a program to print the length of a string.
Draw flowchart and explain while loop with example.
OR
Explain switch case control structure with example.
List characteristics of higher level language and explain any three.

Write a program using for loop to print these output.:
1
12
123
1234
Write a program to sum all the digits of an unsigned integer number. i.e. for
number 6341, 6+3+4+1=14.
Write a program to find minimum out of two numbers N1, N2.
Write a program to find the larger from the array of 10 integer numbers.
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